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Sub exercisel()
ThisWorkbook.Worksheets(*'Sheetl™).Range("A:A").Value = 1
End Sub

Sub exercise2()

ThisWorkbook.Worksheets(*"Sheetl™).Range("A:A").Interior.Colorindex = 4
End Sub

Sub exercise3()

ThisWorkbook.Worksheets("Sheetl").Range("A:A"). Delete
End Sub
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ThisWorkbook . Worksheets("Sheetl™) . Range("A:A") . Interior.Colorindex = 4

ThisWorkbook . Worksheets("Sheet1") . Range("A:A") . Delete

ThisWorkbook . Worksheets("Sheetl") . Range("A:A") . Value =1
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ThisWorkbook . Worksheets("Sheetl") . Range("A:A") . Delete
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ThisWorkbook . Worksheets(“Sheet1”) . Range(“A:A”) . Interior . [COIGHREEN = 3
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Sub Example_Rangel()

ActiveSheet.Range(“Al1”).Value = 10
End Sub

Sub Examlpe_Cells1()

ActiveSheet.Cells(1, 1).Value = 10
End Sub
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Sub Example_Range2()
“BILIZEZANS
ActiveSheet.Range(“Al”).Value = 15
ActiveSheet.Range(“A2”).Value =5

ActiveSheet.Range(“B1:B107).Value=10
End Sub
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Cells(RowlIndex,Collndex)

Sub Example Cells2()
“TILIZIEZANS
ActiveSheet.Cells(1,5).Value = 25
ActiveSheet.Cells(2,5).Value =5

End Sub




CELLSZ /T 1

T ILFI~FI0IZEILDFFEESZEZT AL TOT I L
ZJO/xT « lvalue] Z&Bg

Sub Example_Cells3()
‘“LILF1~FI00IC )L DITESZEZTALTAT I L
Dim 1 As Integer

For 1 = Jto
Cells(| |, ) =
Next

End Sub
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Sub Example _Range3()
Range(“A3”) = Range(“Al”)+ Range(“A2”)
End Sub

CellsZ{E > TEILALEA2O G ZALIZH A

Sub Example_Cells4()
Cells(4,1) = Cells(1,1) + Cells(2,1)
End Sub
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RangeZ{# > TB1IMNSBI0E THOEETZB11IZH A

Sub Example_Range4()
Range(“B11”) = Range(“B1”) + Range(“B2”)
+ Range(“B3”) + Range(“B4”) + Range(“B5”)
+ Range(“B6”’) + Range(“B7”) + Range(“B8”)
+ Range(“B9”) + Range(“B10”)
End Sub
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CellsZ{#> TB1A5BI10E THDEEEB11IZ;

Sub Example_ Cells5()
Dim 1 As Integer

Dim goukeil As Integer
goukeil=0

Fori = to
goukeil = +
Next |

Cells(1,2) =
End Sub
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